B= 16 S= 64 grid[0] [0]
> @

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= 64 grid[0][1]
> |

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= 64 grid[0] [2]
> O

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= 64 grid[0] [3]
> O

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= 64 grid[0][4]
>» O

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B=16 S= 64 grid[0] [15]
> O

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B=16 S= 64 grid[1] [0]
>

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= 64 grid[1][1]
>»

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= 64 grid[0] [0]
> @

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[j][i].x;



B=16 S= 64 grid[1] [0]
>

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[j][i].x;



B=16 S= 64 grid[2] [0]
>

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[j][i].x;

11



B= 16 S= 64 grid[3][0]
>

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[j][i].x;

12



B=16 S= 64 grid[4] [0]
>

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[j][i].x;

13



B=16 S= 64 grid[15] [O]
>

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[j][i].x;



B= 16 S= 64 grid[0][1]
> |

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[j][i].x;



B= 16 S= 64 grid[1][1]
>»

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[j][i].x;



B=16 S= 32

>

grid[0] [0]

for(i = 0; 1 < 16; i++)

for(j = 0; j < 16; j++)
total x += grid[j][i].x;

17



B=16 S= 32

>

grid[1] [0]

for(i = 0; 1 < 16; i++)

for(j = 0; j < 16; j++)
total x += grid[j][i].x;

18



B=16 S= 32 grid[2] [0]

>

for(i = 0; 1 < 16; i++)

for(j = 0; j < 16; j++)
total x += grid[j][i].x;

19



B= 16 S= 32 grid[3][0]

>

for(i = 0; 1 < 16; i++)

for(j = 0; j < 16; j++)
total x += grid[j][i].x;

20



B=16 S= 32 grid[4] [0]

>

for(i = 0; 1 < 16; i++)

for(j = 0; j < 16; j++)
total x += grid[j][i].x;

21



B=16 S= 32 grid[15] [O]

>

for(i = 0; 1 < 16; i++)

for(j = 0; j < 16; j++)
total x += grid[j][i].x;

22



B=16 S= 32

>

grid[0] [1]

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)

total x += grid[j][i].x;

23



B=16 S= 32

>

grid[1][1]

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)

total x += grid[j][i].x;

24



B= 16 S= 64 grid[0] [0]
> @

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= 64 grid[0][1]
> |

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= 64 grid[0] [2]
> O

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= 64 grid[0] [3]
> O

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;

28



B= 16 S= 64 grid[0][4]
>» O

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;

29



B=16 S= 64 grid[0] [15]
> O

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;

30



B=16 S= 64 grid[1] [0]
>

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= 64 grid[1][1]
>»

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= 128 grid[0] [O]
>» ©®

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= 128 grid[0] [1]
» e

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= 128 grid[0] [2]
> 5

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= 128 grid[0] [3]
> o

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= 128 grid[0] [4]
> o

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;

37



B=16 S= 128 grid[O] [15]
> o

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;

38



B= 16 S= |28 grid[l] [0]
>

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B= 16 S= |28 grid[l] [1]
>

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B=32 S= 32 grid[0] [O]
>» ©®

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B=32 S= 32 grid[0] [1]
» e

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B=32 S= 32 grid[0] [2]
>» ®

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B=32 S= 32 grid[0] [3]
> o

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;

44



B=32 S= 32 grid[0] [4]
> ®

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;

45



B=32 S= 32 grid[0] [15]
> ®

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;

46



B=32 S= 32 grid[1] [0]
>

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



B=32 S= 32 grid[1][1]
>

for(i = 0; i < 16; i++)
for(j = 0; j < 16; j++)
total x += grid[i][]].x;



